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A YT SELSFHD
M. HYSHBH (MY sSMEML)
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
101 2124 4| 74,507 0 74,507
03 2IAHAZZXHE = 74,507 0 74,507
o33 &2 74,507
ods(or2) 26,331
-145 = 26,330, 130 * 1 26,331
OJFAH X & Hl 175,000& = 1¥ = 12& 2,100
O=&t| 130,000& * 1 = 128 1,560
Onstl 130,000& + 1Y = 12& 1,560
OY ZE =
26,330,130 / 128 * 60% ~ 1¥H * 23] 2,634
o= 9,054
2544 26,330,130 * 10% » 1H 2,634
-tESY 960
B[P\ 40,0008 * 1Y = 12& 480
EslE= 20,000& x 2% = 128 480
-HAEI2EZ2LY 91,0008 » 1H » 12& 1,092
-gYuazsy
91,000 » 1Y * 42 x 128 4,368
Ol =t 556
-&H= 90,000& * 2H 180
-2 9| 15,000 = 29 30
-OtX 3} 60,0008 * 2™ 120
-& 3t 13,000 = 29 26
-get= 100,000& = 29 200
odE(a) 17,737
-15=3 17,736,480 = 1Y 17,737
O= & 130,000& » 1¥ = 128 1,560
[@FnE=3:]! 130,000& + 1Y » 12& 1,560
OY ZE I
17,736,480 / 128 % 60% * 23] 1,774
o= 8,081
-tExY 960
B[R\ 40,0003 * 18 = 12& 480
- E=HlS 20,0008 = 29 = 128 480
-A XS 30,296,430 / 3652 x 20 1,661
- I2Z2eY
9,100& * 10AlI2t » 1Y =128 1,092
-gY2e4g
9,100& = 10AI2F = 1¥ = 4L x 128 4,368
45,833 40,352 5,481
45,833 40,352 5,481
St2 A | 20,993 18,352 2,641
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SN AgT |
HE: HIS YA (MYD SHLBND)
2

o
gelr Jl=

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

01 AFR2 22l Yl 18,072 16,172 1,900
OJI=2gf +=s1AEY| 9,000,000& 9,000
2d(JI=&Hl) 9,072,000 9,072

02 3524t 2,921 2,180 741
oRW2 2,921
O3 270 * 250 *~ 12& 810
OSIREL2 1,930& * 708 * 128 1,622
OsJletsz 1,630 * 25 * 12& 489

202 O B 19,440 16,200 3,240

01 2L Y] 19,440 16,200 3,240
OJ|IEZ&HI 19,440,000& 19,440

203 R =&Y 4,200 4,200 0

04 ENSHLR=XH| 4,200 4,200 0
OJ|=H 350,000& = 12& 4,200

405 XtabF SHI 1,200 1,600 A 400

01 AL 2SS FSHI 1,200 1,600 A 400
O AR E2| Xt 300,000& = 404 1,200
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N & o & AF & H Al A
20169 = =0l &k LA AR eI ~ &7 AFY
SN 4YTR HRD
M XA 2el
Chel: HEtst YA 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
aYT N2 379,470 423,524 AN 44,054
XAl 2tel 314,610 363,975 A 49,365
st NEA 21 182,620 239,200 A 56,580
LA 20 2 58 182,620 239,200 A 56,580
201 L2l 181,104 207,278 N26,174
01 At 22l 53,988 53,858 130
OX&A 2UHR=A 33,120
OXNsSIHMSE DX M 72,6003 * 204t Xt 1,452
O&IIZ2AXNA 72,6003 * 2334t Xt 16,916
O=ANEILXNAM 72,600 » 35&FKt 2,541
OXNZEDXNAM(HSH, HAM, =LAl
72,6003 » 334Kt 2,396
OM2=DXAM 72,6003 » 254Xt 1,815
OctU & 5,000
- E3eU: 100& * 22,000 2,200
-0 tHE 100& = 28,000%& 2,800
OF=s—= 100& = 20,0000H 2,000
OEuE-Ls 200& = 5,0000H 1,000
OXNEMNFU dRZFA 425 F¢ 10,780
OxZelgy &4 220,000& = 2504 5,500
O=AEX 21,000& » 80&t Xt 1,680
OunxTey 283 3,600
- EH(=")dMd 500,000& = 43| 2,000
- FHER 800,000& * 23 1,600
OX&gAH 2 10,088
OXYME &8 el=3 M=
2303 * 4Z = 5,0000H 4,600
O8l==0 & a2ty 5,488
-9 70,000& * 73] » 7O 3,430
- 2HEt 33,000& = 73l * 8 1,848
-t 4 30,000& = 73] » 102 210
02 =224l 127,116 163,420 AN 26,304
ORERIB(FIZ, A2, AL, AU2) 125,776
Og et 2703 = 300,000 81,000
Ol 1,930& * 23,2008 44,776
OHF AR EHl KAl 1,340
O&E R = AL 3,200,000& = 3CH = 8% 768
O M MIE DI 2,300,000& * 1CH * 8% 184
O2NEED| 4,840,000& = 108 » 8% 388
202 Oddl 1,516 1,516 0
01 =2 LHA YI 1,516 1,516 0
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S s XYM 20 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OXNLMELR AXG HAX Ol
75,800& x 5H x 22 x 23] 1,516
S80I JgH A 131,990 124,775 7,215
XA M =t 131,990 124,775 7,215
201 Bt A H| 87,808 83,742 4,066
01 At 22l b 28,478 28,342 136
OXNEAMH HR2 =X 28,478
ONME XA 72,600& = 1004k X+ 7,260
Oss1 XA 72,600& = 504Xt 3,630
ogue, tne 72,6002 * 204t Xt 1,452
OZMWHE +42 600,008 * 458 + 25% 6,750
O#ASI EX 42 1,0002 * 1,00004 1,000
O2SMHA * WA MEHE +42
2,000& * 1,000 2,000
OoZglHe &Y 220,000& = 1004 2,200
O=2AEX 21,000& * 504 X+ 1,050
OXNZLA My S22t 28 3,136
= 70,000& * 43 * 7I0H 4 1,960
-l 2H& 33,000& * 43 » 8 A 1,056
-y & 30,000& * 43 » 14 120
02 3524t 59,330 55,400 3,930
OREQRES(MELIAN . SEH L2, 24U2) 53,930
Ot 270& * 164,000 44,280
O8I 1,930€ * 5,000 9,650
ONME&E+2 POA AIEZ
40,0008 = 304 = 12& 1,440
OIS T AXAIAE X2 2H|
330,000 = 12&€ 3,960
202 044l 3,032 3,032 0
01 2LHOHI 3,032 3,032 0
O M &0l 75,8003 * 4% x 10€ 3,032
303 ZA& 3 40,000 38,001 1,999
01 ZA&2 40,000 38,001 1,999
O&fILAZ 40,000
020138 & 0|82 277,700,000& = 5/100 13,885
o204 == 283,400,000 = 3/100 8,502
020158 &2 1,761,300,000& * 1/100 17,613
405 XtabF S| 1,150 0 1,150
01 JHMY = EF S HI 1,150 0 1,150
OHS T IXXE SHerA  450,000& ~ 104 450
OFEUE IXs <3 ey 700,000& = 14 700
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Jl2AH| 64,860 59,549 5,311
201 et d| 26,940 23,427 3,513
01 AR 22l ] 26,940 23,427 3,513
OJl2gsadiasA | 12,000,000 12,000
©Jl=&ddl (S&dl) 12,096,000 12,096
OBI|A HHOol U SAHIMNAM 2,844
Oolgols 82tX 2
11,000& » 5=  12& 660
O3J18 3D 35,000 * 2CH = 12€ 840
O& =] 36,000 * 204 » 12&€ 864
QoA g2 Wi 60,000 * 45 = 23| 480
202 o4 | 33,720 29,640 4,080
01 2Ll 23,520 19,440 4,080
OJ|Z=Z& | 23,520,000 23,520
02 NI 10,200 10,200 0
OMEMNMZ&s E&E0HI
170,000 = 5 * 12& 10,200
203 & R =& H| 4,200 4,200 0
04 FEASHEYIFFEH| 4,200 4,200 0
©J| =% (309! Olat) 350,000& ~ 12€ 4,200
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SN AYT BAAMD
M 9 JHRE OISLE2 TAEE =4
ool WS MEHY T4 CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
201 Le-2d| 12,018 12,120 A 102
01 At 22l 5,130 5,030 100
oMl 28HEI ol 5,130
OZnE(=d)
35,000& = 130 H&E = 10 4,550
OZAIItoet s 08 20,0008 1504 300
OZH =2ME 588 gy 23
70,000& = 404 280
02 3323l 6,888 7,090 A 202
OZ ANt AIHY SEAERZ
36,000& = 1404 ~ 123 6,048
oHx8 SUE ANER
70,000& = 1CH » 12& 840
202 04l 1,600 1,600 0
01 = LHA Yl 1,600 1,600 0
orMddl =Y FIl HUYX HE
20,0003 = 23 « 40 1,600
301 L2 Az 1,680 1,200 480
1MIIEESS 1,680 1,200 480
OZAIJtHE X HIIQ3 UABAZ(4EA
) 10,0003 = 14CH » 12& 1,680
402 RI2HXt20l ™ 25,200 4,500 20,700
02 BI2HCH S AL &1 HI 25,200 4,500 20,700
oMdIDl S - EI ZAISt0e X S22
450,000 = 14CH = 43 25,200
405 TtHabF S| 26,000 0 26,000
01 Rt EFH S 26,000 0 26,000
O=2YSI|l ZAIt0ect EXAY
10,000,000 = 20K 20,000
omMasMygdl 2el=Hg ¢
300,000& * 204 6,000
N2EL Y MY I =FH2E 531,793 655,477 A 123,684
201 Let24E] 249,013 222,045 26,968
01 At 221l 11,560 10,480 1,080
OHLHY PL2FX 420
OMe=+=d XM wel 90,0003 * 29tA 180
OFAXE2HLX 4,000& * 33 * 20CH 240
oMl RASE BOHA EXE
1,000& * 25004 250
OUEHIIE ADES 100& = 30,0000H 3,000
OUEHIIE e 88 EU
220,000&  3CH 660
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SN AYT BAAMD
Zal: otD R OISLIE SASY =4
Sl WEE MBHY I4 (B9 ®R)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
OUEHIIZ A= 528 SASA
21,0008 * 102 A 210
2N AEIH 1002 * 3,0000H 300
OANYE HIIS Haltl 150,000% * 5 750
OHAXY ZI22N S
7,008 * 29 + 1352 1,890
OUEHIIS Y 2H +22
150,0002! * 122 1,800
OHLLY DK ALY
120,0009! * 19§ = 23] 240
osFRRY SHL2IY ASE
170,000 * 122 2,040
02 232l 237,453 211,565 25,888
OFATY 2 (BIBMELE)
25,0008 * 20CH 500
OFAXY B2l (BHAMELE) 965
OUE &t 61,0008 + 8CH 488
OFS-$3 53,0002 + 9CH 477
OBARY 2l (HHNIAWLEI] AAL4E)
400,0002 * 4CH 1,600
oNEX 2EE 120,000 * 1CH 120
OO0EX BEE 75,0008 * 204 150
OBAXY HINLRLI
120,00020 * 14TH * 23l 3,360
OBAFY S 226,758
OBAT 10,798,000 * 21CH 226,758
OLHX AMAEHISXAH  1,000,000& * 43| 4,000
206 T 2 | 25,980 19,900 6,080
01 2 HI 25,980 19,900 6,080
O=HHAT I 7Y 13,350
SEITEL R 230,000 * 3CH * 1574 10,350
OAOIS B 244 10,0002 * 3CH * 107H 3,000
0HLBE 7Y 8,700
oyl o 15 50,0008 * 125 * 122 7,200
OUe+HE HE 01,0008 * 1,50004 1,500
OHLAEY 2SF A2E 10,0008 * 48 480
OHANY F2AB 30,0008 * 15CH 450
O=2¥ BXE 300,0008 * 1024 3,000
405 TH&HF St 256,800 370,000 A113,200
01 AU 2B St 256,800 370,000 A 113,200
OB AT 230,000,000 * 1CH 230,000
OMEE HII2 XX 23,000,008 + 1k 23,000
OHZTES +AHXY 2UTE &3
3,800,008 * 14! 3,800
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D OWRE OISO TABE FH
Mo MEBEZ FH

- _ _ RE]
N X8-S (3H) - MEAY - B gﬁ‘&i HR=2
aido AIBI&s= &N 3,700 96,800 A 93,100
201 gBt24d| 3,300 89,200 A 85,900
01 AP 22| H| 3,300 89,200 A 85,900
OO0l AlRI2S AIE =X 3,300
OAFEL 213k 10,0008 = 2000H 2,000
O 2 AHIH 100,000& = 134 1,300
206 M = H| 400 1,200 A 800
01 X2 Hl 400 1,200 A 800
O00l& AlDI2s E3AES 400
(OFSg=; 200 = 1,000& 200
Ol 4,000 « 5004 200
oAl SHAMH MY 50,960 100,085 N49,125
== 2SS A4 22 10,340 23,540 A 13,200
201 LBt Y| 2,240 240 2,000
01 AP 22| d| 2,240 240 2,000
OYHE=EE Z2sSAI4E &7 oY S8 AMES
5,0008 * 404 = 12&€ 240
O&ZI| A2l 500,000 * 40 A 2,000
206 M = dl 100 100 0
01 X2 b 100 100 0
OY=2 MNEaHFE MY 2
1,000 = 1004 100
401 Al HI L £ 0HHI 8,000 23,200 A 15,200
01 Al& B 8,000 23,200 A 15,200
OYHEE Z2SAE X.Bx
500,000 * 1600 A 8,000
SHHMLAELZ2 21 40,620 76,545 N 35,925
201 gEt24Hy| 40,620 50,840 A 10,220
01 AP 2t 2] d| 18,400 25,170 ANB,770
OSIMNHEEZS DKM UM 8,100
OAdI= 902 = 25,0000 = 23| 4,500
Oss=2 90 = 20,0000 = 23] 3,600
OSIMNEEZ2 2ot 42 M2
70,000 = 140 = 23] 1,960
OEFAMNEEEZ 0822 UE 8,340
OBINMRLS StSau 248
100 * 2004 = 12&€ 240
Ot ELE 2 NSOIH =2
50& = 1004 = 12&€ 60
OBZNLASLD HAAUT HRs42
802 = 8,0004 = 12&€ 7,680
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M 9 JHRE OISLE2 TAEE =4
ol BAYAIMO e Bl CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
206 M= Hl 13,500 14,700 A 1,200
01 M= 4l 13,500 14,700 A1,200
OZest&a ARE(SEX 2 95)
500,000& 1500 4 7,500
O=Zs&a ARE(SEX 2 9F)
1,000,000& * 69H £ 6,000
307 gl2tol & 25,200 25,200 0
05 BIZHRI & 3 25,200 25,200 0
OZZaIA 2ol PYIH (VA
50,0003 * 6IH A * 123 25,200
401 AIEHI L 201 9,000 10,200 A 1,200
01 A& Hl 9,000 10,200 A 1,200
O=sst&a RAE=> 1,500,000 = 690 A& 9,000
gdael € N= 1,482 65,823 AB4,341
SAHA=SSE otd el 1,482 823 659
201 ¢et24] 1,482 823 659
01 At 22l 1,482 823 659
O&H HoE = 82,3003 » 64 « 3MA 1,482
SZE2E HEMEE 22 21,329 51,825 A 30,496
BHESALE & 2PAl 23t 21,329 51,825 A 30,496
201 24l 9,359 5,155 4,204
01 At 22l 5,060 5,060 0
o&3d2d =3 Fdl )X 2+ 50
OFZZEAN =2 50,0002 * 138 50
OEZL2EE HAL ==&  1,010,000& 13 1,010
OUMIIREEE ANZUHA U ==
100,000& * 2004 & 2,000
osdiE 2= MH
500& = 1,00000 » 2& 1,000
OF2E AL HII= HMcl HE
500,000& * 2& 1,000
02 2324l 4,299 95 4,204
OoH=ExE KA 2l 4,299,000&  1CH 4,299
202 Odl 6,120 6,120 0
02 M0 6,120 6,120 0
OZNEEHE 2 =& Ol
170,000& = 3¥ = 12 6,120
206 M= Hl 3,784 3,534 250
01 =8l 3,784 3,534 250
OsF=Z ZHl Il X 1,334
O=Z MNEMHAHE 2 MH=2 630
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2N 4YD BAAMD
M QML 2E BN
SR FAMIA 2223 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
FEFEEN EEETIEELE]
170,000 * 49 = 12& 8,160
HHSHHH (AL SHAMD) 2,687,824 2,454,861 232,963
Jl =23l 52,954 35,278 17,676
Jl2&l 52,954 35,278 17,676
201 LEt2 Y| 33,634 20,278 13,356
01 AR 22| I 25,339 20,278 5,061
oOz=EHl (JI=ddl) 12,600,000& 12,600
OJI=2gd#HESH| 12,500,000& 12,500
O8I iz 19,900& ~ 10H ~ 12& 239
02 3524l 8,295 0 8,295
oRW2 8,295
Ogtt 270& * 20,0000H 5,400
O8I 1,930& = 1,5000H 2,895
202 4] 15,120 10,800 4,320
01 2LHOHI 15,120 10,800 4,320
OPJES ] 15,120,000& 15,120
203 € R =&lY| 4,200 4,200 0
04 2SI L RF=AH| 4,200 4,200 0
O©J= (302! 0ld}) 350,000& = 12& 4,200
ol 2| 2,634,870 2,419,583 215,287
SIoAHEZ2ZE2X B 2,634,870 2,419,583 215,287
101 @121l 2,634,870 2,419,583 215,287
03 I AHLZZAHE S 2,634,870 2,419,583 215,287
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ozZs=73 FHegxtz 10,100
O=4)| 560,000& = 104 » 10 5,600
og=xt 450,000& = 104 = 10 4,500
202 O4dl 2,040 0 2,040
02 M0 2,040 0 2,040
OdtE LY =g &L FANH
170,000& = 1H » 123 2,040
401 Al HIZ 201 I 301,944 0 301,944
01 A& HI 300,000 0 300,000
OotE KRR &AL 250,000, 000& 250,000
OR4A slel NEH sdE=2 &
20,000,000& = 14 20,000
Ootd Y DI=EXNEL 30,000,000& 30,000
03 A& 2 THHI 1,944 0 1,944
OGSt SR ZelAte A4 201l
270,000,000& * 0.72% 1,944
AoHE FHIALY 753,503 0 753,503
401 AIEHI L 2 CHEI 753,503 0 753,503
01 A& Bl 750,038 0 750,038
Oxctd R+ 80,000,000& 80,000
O=&A0td U SA 261,075
O3 Atd| 250,000, 000& 250,000
O& Al € AHI 250,000,000& * 4.43% 11,075
OJtLActE HHISA 53,245
O3 Atdl 50,000,000& 50,000
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AN &Y LSS0
M T - THol 2 MZst =&
& Gt - Bi==AIE JHE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O& A& 50,000,000& * 6.49% 3,245
OZFAGHE HHISAH(L=150m) 42,428
O3 Atdl 40,000,000& 40,000
O4A Al £ Al 40,000,000& = 6.07% 2,428
O AtABHA FHHI 3 AH(L=1.2km) 313,290
O3 AtH| 300,000,000 300,000
O& A& A 300,000,000& * 4.43% 13,290
03 Al S THHI 3,465 0 3,465
OActd ZHISAH AIZ R0
550,000,000& * 0.63% 3,465
ot=2tel 20,050 0 20,050
Kot B3 22| 20,050 0 20,050
Kot AIE&E 22l 20,050 0 20,050
201 £B-2dH| 5,050 0 5,050
01 At 22l 250 0 250
OXdts =2ZFL AlZ Mg 7
2,500& = 1004 250
02 =24l 4,800 0 4,800
OXots EXHEL HIRRS
6,000& * 25004 * 12& 1,800
OXots BEXHEY SRS
10,0002 » 250 « 12& 3,000
401 AIEHI L 2CHEI 15,000 0 15,000
01 A& Hl 15,000 0 15,000
OXdts &X3 H3XHe
2,500,000& * 200 £ 5,000
OXots B2 FHIAMY 10,000, 000& 10,000
HH2AIH (MY HEWE) 292,132 276,326 15,806
ol 2 gl 234,988 219,164 15,824
ol Al 234,988 219,164 15,824
101 @124l 234,988 219,164 15,824
03 RIHAZ 22+ 234,988 219,164 15,824
oOEzEx 227,248
od=E(It=2) 129,667
-234 Xt 32,280,000& * 1H 32,280
-149 Xt 26,330,000& = 29H 52,660
-1349 Xt 25,669,000& » 1H 25,669
-39 Xt 19,058,000& * 1H 19,058
OF=1 68,481
s 3,120
- B & 40,0003 * 5% « 123 2,400
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SN Mg ALDED
M HY2IAH (ALY HAEWNED)
chel: ol gyl CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
- &S 20,0003 = 39 » 12& 720
-BtE 100,000& » 12& 1,200
R R
9,100& = 20Al2t » 5H * 12& 10,920
~sguoRIRAY
9,100& = 8BAIZ2t = 60 * 5% 21,840
-0t X} 4
30,296,430% /3652 * 5% » 202 8,301
25 210,000& = 59 » 12& 12,600
-JHAXI & 8l 175,000& = 53 = 123 10,500
OZFE=FItHI 1,350,000& = 23] = 59H 13,500
O= gl 130,000& = 53 = 12& 7,800
Ou SH| 130,000& = 5% = 12& 7,800
OE2X Sl 3,850
O2U=2& el 7,000& * 60 * 5YH 2,100
O %= off CH 24 7,000& = 502 » 59H 1,750
OR4&X XlZH| 500,000& = 59H 2,500
OE2E+2 1=l 1,390
oxgs 90,000& = 5H 450
Oo=9 15,0002 * 5% 75
O¢otH 5t 60,000& = 5H 300
O&st 13,000& * 5% 65
Oogsts 100,000& * 5% 500
Jl2Z3l 57,144 57,162 A 18
JlE2&l 57,144 57,162 A 18
201 LEr2 Y| 34,524 34,082 442
01 At 22l 25,076 19,934 5,142
oJlegea#AH (J1EZ ) 15,500, 000& 15,500
o2 (JI&EZHl) 9,576,000& 9,576
02 =224l 9,448 14,148 24,700
oORER= 5,600
OgereH 270& = 7,000A 1,890
OsJl=eH 1,930& * 1,500 2,895
oets=z 1,630& * 500 815
O#HFZEH KA =t 48,095,000& * 8% 3,848
202 odl 18,360 17,280 1,080
01 = LH o4 1l 18,360 17,280 1,080
O©J1=3Hl 18,360, 000& 18,360
203 PR =&l 4,260 4,200 60
04 EAN2IHRF=EHI 4,260 4,200 60
OJ|&EH(312!) 355,000& = 12& 4,260
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Mg A=Y
HYSHBH (AL 2=
Jl2&dhl ?HA)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
02 3524l 7,051 2,788 4,263
OABHHALEA SHE 5,467
OsII 1,930& * 1708 » 12& 3,938
Ot 270& « 170 = 128 551
Ootts = 1,630& * 508 *» 12& 978
OHH AR EHI =X B 984
Ol EJ] 2,300,000& ~ 1CH ~ 8% 184
O&E XK= A 5,000,000& * 20 * 8% 800
O8I ANEZ 50,000& = 10§ ~ 12& 600
202 04| 14,040 14,040 0
01 2L Y| 14,040 14,040 0
OJ|IEZHI 14,040,000& 14,040
203 &R =&H| 4,200 4,200 0
04 EANSHLRF=AH| 4,200 4,200 0
ORANESELERFAH| 4,200
OSMegAL =T (H 302 0I5
4,200,000& 4,200
405 XH&HF SHI 250 3,700 AN 3,450
01 AL 2B F SHI 250 3,700 N 3,450
OXBSHEAI 7 250,000& * 1CH 250
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